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Bl =%

THEX Sy« T - R - A5 B B B B G = A & H (GRS
290 =M
= 1 436, 583, 413
PCHG 1.
= 1 359, 928, 555
7 VAN Ay MRE T
= 1 130, 804, 572
7 VERAMNYT v ML 50N/mm2 1=29.376m 543%E] (G1ATA
1-P1#ER)
i 1 9, 349, 862 9, 349, 862
7 VAT by MR 50N/mm2 L=29. 533m 55| (G24TA
1-P1#ER)
i 1 9, 349, 862 9, 349, 862
7 VAT by MR 50N/mm2 L=29.690m 543y (G3#TA
1-P1#ER)
i 1 9, 443, 361 9, 443, 361
7 VAT by MR 50N/mm2 L=29. 847m 543 (G4#TA
1-P1#ER)
i 1 9, 536, 859 9, 536, 859
7 VERAMN T v bR 50N/mm2 L=44. 105m 743#] (G1#7iP
1-P2£& )
i 1 13, 557, 300 13, 557, 300
7 VERAMNT v MR 50N/mm2 L=44.243m 747%] (G247P
1-P2£& )
i 1 13, 370, 303 13, 370, 303
7 VAT by MR 50N/mm2 L=44.381m 74y%| (G3#7P
1-P2£& )
i 1 13, 463, 802 13, 463, 802
7 VAT by MR 50N/mm2 L=44.520m 74y%] (G4#7P
1-P2£& )
i 1 13, 650, 799 13, 650, 799
7 VERANY T M RLE 50N/mm2 L=31.069m 543%] (G1HiP
2-A27% )
i 1 9,817, 355 9,817, 355
7 VAT by MR 50N/mm2 L=31.096m 54| (G2#7P
2-A27% )
i 1 9,723, 857 9,723, 857
7 VERAMNYT v ML 50N/mm2 L=31.124m 543 (G3#7P
2-A27% )
i 1 9,723, 857 9,723, 857
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7 VAT by MNRLE 50N/mm2 L=31.151m 543 (G4#7P
2-A27% )
i 1 9,817, 355 9,817, 355
7 VEAYAMYT Ry N EMTHILSL T
= 1 30, 611, 448
7 VEAYAMT Ry EMTRILST 3200kN (320t) 7 (12S15. 2B) 5437l
PN 8 2,094, 369 16, 754, 952
7 VEAYAMT Ry EMTRILST 3200kN (320t) 7 (12S15. 2B) 7437l
PN 4 3,464, 124 13, 856, 496
AT
= 1 54, 325, 926
NS e R JJ 1TT0kN
(A1)
& 4 2, 336, 530 9, 346, 120
NS e KK JJ 1870kN
(A2)
& 4 2, 336, 530 9, 346, 120
NS e KK JJ 1900kN
(P1L)
& 4 2,224, 332 8, 897, 328
NS e KIKJ) 2520kN
(P1R)
& 4 2,224, 332 8, 897, 328
NS e KIKJJ 2510kN
(P2L)
& 4 2,224, 332 8, 897, 328
NS e RKIKJJ 2120kN
(P2R)
& 4 2,224, 332 8, 897, 328
fliBRAS T 8RR SD295 D10
t 0.42 105, 653 44, 374
DR T (BRERAMTAR )
= 1 67, 543, 404
HiZRa% 7" VRV AN Y MET
= 1 67, 543, 404
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THX Sy - THE - FER - sl B B B B G = A & | (GRS
TRAR - RE 1
= 1 8, 450, 049
R SD345 D13
t 1.02 311, 350 317, 577
R SD345 D16~25
t 2.45 268, 060 656, 747
EVVER 30-12-25(20) (&il) HWOKBEAER
Dy MR R
m3 70 93, 077 6,515, 390
PCr-7" v YI VANV VAT BTOKN(60t) (1S2
1.8)
m 151 3,279 495, 129
XA Yy) VARV R YAFA BTOKN (60t) (1S2
1.8) FEEM (BaEA)
§=7" 14 33, 229 465, 206
AL T
= 1 23, 745, 872
ERAR SD345 D13
t 4.29 292, 744 1, 255, 871
ERAR SD345 D16~25
t 8. 66 268, 060 2,321, 399
EVVER 30-12-25(20) (&il) HWOKBAER
D3y MR R
m3 146 93, 077 13, 589, 242
PCr—7" v Yr VANV VAT BTOKN(60t) (1S2
1.8)
m 916 3,279 3,003, 564
XA Yy)T VARV R YAFA BTOKN (60t) (1S2
1.8) FEEM (BRaEA)
B=7" 84 42, 569 3,575, 796
PCav FERAR T
= 1 17,917, 940
PCHR 37K v af/b 747 15X 10
m 291 1,919 558, 429
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PCH k% 50N/mm2
bie 297 57, 520 17, 083, 440
Wk E
m 657 420. 2 276, 071
PRI
= 1 26, 529, 344
ERAR SD345 D13
t 2.21 164, 651 363, 878
ERAR SD345 D16~25
t 94. 42 162, 687 15, 360, 906
VAR 30-12-25(20) (@)
m3 255 27, 376 6, 980, 880
P (PCa/E PRAR L)
= 1 3, 823, 680
R B 1L
= 1 56, 748, 640
(GRS
= 1 20, 862, 406
- 27 LR 2 fifffE ££230mm
(A1)
m 11.9 890, 854 10, 601, 162
- 27 LR 2 fifffE ££230mm
(A2)
m 11.6 884, 590 10, 261, 244
PekZEE T
= 1 16, 705, 502
HEAK SUS304 654 X400
T 14 151, 374 2,119, 236
HEKE (B30 EREATIVAE 202
m 186 55, 968 10, 410, 048
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HEKE (T EREATIVAE ¢ 202
m 62 38, 577 2,391, 774
IRRRK Pk & P KA SUS304TP 25A~40A
m 15 35,118 526, 770
RIS & & PR RRE240~350
T 6 36, 623 219, 738
IR & & RS 440 ~540
T 2 40, 082 80, 164
RARA Bk 2 & I 7VvAY T W=7 625 &) xFV Mg
m 8 5, 420 43, 360
)= TR VbR E M12X 100 Ay%
VN 724 1,263 914, 412
P - BE R T
= 1 7,076, 167
VAR 24-12-25(20) (@)
m3 63 28, 348 1,785, 924
P SD345 D13z *vistflis 8k
t 0. 14 264, 320 37, 004
ERAR SD345 D13
t 10. 11 169, 887 1,717, 557
ERAR SD345 D16~25
t 0.88 165, 960 146, 044
Tl e — T
= 1 3, 387, 200
H His VR EHEE B Hub t=10
m2 0.7 3, 483 2,438
rh gy e L
= 1 4,177, 307
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VAR 24-12-25(20) (@)
m3 40 28, 348 1, 133, 920
P SD345 D13z *vistlis 8k
t 0. 07 264, 320 18, 502
R SD345 D13
t 6.51 169, 700 1,104, 747
ERAR SD345 D16~25
t 0.55 165, 399 90, 969
pibe — T
= 1 1,778, 280
H His VRS HEE B Hub t=10
m2 0.2 3, 483 696
Hp oo B A AR T SUS304TP 25A EL# L=620
VN 13 3, 861 50, 193
WA T
= 1 7,927, 258
TRAL S I AV LS
(PLFRAT)
m 31 127, 906 3,965, 086
TRAL I AV LS
(P2FF 1)
m 31 127, 812 3,962, 172
/)~ MG RIS E T
= 1 16, 930, 818
YL L8 1T
= 1 12,611, 678
i T2 1, 390m2
= 1 9, 396, 400
RIS S 35 210m
= 1 1, 699, 530
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e - AEIE Y 25 103m
= 1 1,515, 748
Wb 1
= 1 3, 616, 780
AY=7" )9y i 1, 390m2
= 1 3, 616, 780
ke AR T
= 1 702, 360
Y HAG Py
= 1 702, 360
% T
= 1 2,975, 400
RIEE T
= 1 2,975, 400
i e kg = 180 A H
= 1 2,975, 400
T
= 1 3,907, 631
=
= 1 3,907, 631
B A
= 1 1,214, 815
eV 24-12-25(20) (% JF)
m3 11 28, 245 310, 695
ERAR SD345 D13
t 0.89 174, 000 154, 860
ERAR SD345 D16~25
t 0.19 172, 037 32, 687
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Tl — R 73m2
= 1 618, 164
H Hiks VRS HEE B Hub t=10
m2 1 3, 483 3, 483
Y 39m
= 1 94, 926
EHMRER & T
= 1 2,692, 816
R 24-12-25(20) (/= %7) SD345 D13.D
16~25
(AIfEH)
m3 22 62, 167 1, 367, 674
R 24-12-25(20) (= %7) SD345 D13.D
16~25
(A2fEH)
m3 21 63, 102 1,325, 142
[EEE AR
= 1 440, 491, 044
MR E
= 1 33, 786, 474
B ST ¢
= 1 3, 747, 236
T
= 1 1, 308, 045
R A R S L ST i Lzl
= 1 1, 308, 045
HTE
= 1 54,977
T8 B HE R FEART IR
= 1 54,977
BUGERRYCEE (K5 1)
= 1 2,384, 214
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HimEpE (FE L)
= 1 30, 039, 238
g
= 1 474, 277,518
BTk Xegiiv oy
= 1 109, 463, 517
R 5]
= 1 583, 741, 035
— R R
= 1 76, 938, 965
T HAlik
= 1 660, 680, 000
THE B 2 %8
= 1 66, 068, 000
TG
= 1 726, 748, 000
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